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OR(3721d)

A soil sample in the undisturbed state was found to
have volume of 105 cm’ and mass 201 gm. After
over drying the mass got reduced to 168 gm.
Compute.

(1) Water content

(i1) Void ratio

(ii1) Porosity

fodl a1 T & sifdeger sraven ¥ A+
105cm’ TAT HWefd 201 I URIT TAT| AT
H ga@ & 916 efad gca] 168 U g3l |
AT BN |

(i) Stetrer

(i) Reaaar argurd

(i) A¥==rdr

8. Describe working method for determination of
plastic limit of a soil.

fodl a1 @ gucya Awr iR 2 ord
fafer ®1 9vis & |

OR(37214T)

Describe with neat sketch to determine coefficient
of permeability by constant head method.

oo faa 4 RfeR N fafer g1 ur=an
AON® A HIA DI fafer &1 avf a3 |
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) Sem -IV/C/R
Time : 3Hrs.
Geo Tech. Engg.
Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 4 1352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & wift ufg yeal @ SR <, UAS U &1 99 6 b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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OR (3121ar) (i)  H&T P AT ST 8—
Write the importance of soil exploration. (@) & Wi ugfa
@) fg Wi vgfa
(@) & wda ugfa

HaT ANV & Hecad g |
() @ wa ugfa

5.  What do you understand by compaction of soil ? (i)  In saturated soil, value of degree of
What is its purpose ? saturation is:
4 (a) 0.8
i . (b) 1.0
ST HEa- 9 AT T s & ? sHDT © 18
ICR¥T |T 8§ ? (d) 2.0
(i) AW &I d A« DT () BT A
OR (3121a1) s
(31) o8
Distinguish between disturbed and undisturbed (@) 1.0
soil sample. (W) 1.8
(®) 2.0
KU i fagger ud arfdgger ¥ e av | (iv)  The pores of soil having full of water, the

soil is called

(a) Compressible soil

(b) Wet soil
4 (c) Partially saturated soil
e Ud 9ued 4 faue a3 | (d) Fully saturated soil

6. Distinguish between compaction & consolidation.
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(|) 9=
(]) SR & ®Ig 21 |

GROUPB

Answer all Five Questions.

gl uig g & SN < |

4x5=20

2. Explain void ratio and Density index.
4

Readr 3urd vd o-icd adbid &l ARAT
BN |

OR (3121a1)
Enumerate effect of liquifaction is short.

T9UT & YHTd bl G879 H S BN |

N4056

(vi)

(vii)

(vii)

(viii)

5 1615403

HiT SOl &I &1 ST Raadr rgurd
HEF ST 31 Ja1 & Radaar sgua 4

The principle of Permeability is given by:
(a) Stole's law

(b) Newton's law

(c) Coulomb's law

(d) Darcy's law

IRl &1 Rigr=d fean @ 2:
@) we & fraw |
@ gea & ffawm «
(|) B & w4
() st & w4

Unit of Parmeability is:
(a) cm/sec’

(b) cm/sec

(c) cm’/sec

(d) cm?/sec’

P.T.O
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(xvi)

(xvii)
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3T & JU®RUYT fawadar 59 Js«H s
S digdl R BIdl 2, 98 1 Sl 8-
(31) "wa <1a dadr

(@) gg I grRer &Hdr

(\) grfgra emror gwan

(]) Y= gri&ra aror eHdn

The pressure of which shear failure does not
occur without more settlement than standard
settlement of structure is called:

(a) State bearing capacity

(b) Net state bearing capacity

(c) Allowable bearing capacity

(d) Net pressure intensity

591 <19 W 9 a1 IUwHuYT famerar s
2 3 7 & 9= & qEe e @
3t Fye gar 3. el e

(a1) grfEra emer ewar

@) g& gfea gror gwHan

(W) 3T TROT &HaT

(%) = <9 dgdn

The disturbed sample of soil also may give
good result in................... testing.

(a) Bearing capacity

(b) Compaction

(c) Permeability

(d) Consolidation

N4056

x)

(xi)

(xi)

(xii)

7 1615403

afe el a1 & fAawaar amavvr, s
=0 a1 3iaR® advr dwiv= 30° y<Ria
Hdl B, 4 qaT @

(31) ISP

(@) gav®

(\) gfaerr

(?) o= @ |

Compaction is:

(a) Water expulsion from soil

(b) Air expulsion from soil

(c) Water & soil expulsion from soil
(d) Organic matter expulsion from soil

VT B -

@) a1 9 oo frspra

@) g1 9 ary frseraa

(|) Ya1 9 9d vd a9y frssras
(]) 95T 9 @iafe ugrel e

By compaction, the dry density of soil will:
(a) Increase

(b) Decrease

(c) Be unchanged

(d) Be the constant

P.T.O
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10.

Describe with neat sketch Mohr-coulomb failure
theory.

6
AR—fed fawaar g &l W@s 3 &
arer 9ufq &Y |

OR(3721d)

Describe any one field method for determination of
bearivge capacity of soil.

H&T 31 IRYT gHar FeiRer & fag fed
g fafr &1 ol & |

Describe working procedure of standard proctor

test for compaction of soil.
6

T W89 & HFb Yidex 0o &) fspar
faftr @1 qufa & |

OR(37214)

What is CBR ? Write its significance. Describe its
test process.

AR, FT 8 ? BT Hewd ford | sH@!
geror fafer &1 avfs ¥ |
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10.

Describe with neat sketch Mohr-coulomb failure
theory.

6
AR—ged fawaar g &l W@ =3 &
qrer 9ufq &Y |

OR(3721dT)

Describe any one field method for determination of
bearivge capacity of soil.

H&T 31 GRYT gHar Feiker & fag fed
g+ fafr &1 ol & |

Describe working procedure of standard proctor

test for compaction of soil.
6

T 989 & HFdb Yidex gevr a1 fhan
faftr @1 qufa & |

OR(37214T)

What is CBR ? Write its significance. Describe its
test process.

HN.dR. FT 8 ? BT Hecdd ford | sH@!
geror fafer &1 qufa & |
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